ECONOMICS (Code-1072)

A (B - 1072)

Time : 3 Hours Maximum Marks : 150
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Note : (i) Attempt five questions in all. All questions carry equal marks. Question number 1 is

(ii)

compulsory. Answer any two questions from Part-l and two questions from Part-II.
The parts of the same question must be answered together and must not be interposed

between answers to other questions.

In case of any discrepancy in the English and Hindi versions, English version will be

taken as final.
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1. Write notes on any four of the following : [4x7.5=30]
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Consumer surplus
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Modern theory of rent

T B YIS Rsr

Credit creation by commercial banks
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2. (a) Explain consumer equilibrium with the help of indifference curves. [15]
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(b) Differentiate between the law of variable proportions and law of returns to scale. [15]
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3. Explain with the help of diagrams price and output determination under monopoly. Is it true that

monopoly firms always enjoy profit ? [30]
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4, (a) Explain Harrod model of economic growth. [18]
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(b) Elaborate upon Louis model of economic development with surplus labour. [15]
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5. Critically analyze the pattern of industrial development in India since 1991. How would the
greater thrust on MSMEs help in industrial growth and employment generation ? [30]
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6. (a) Examine the recent initiatives by the government of India to provide the basic amenities

to poor people and its economic implications. [15]
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(b) Examine the prevalence of low interest rate and low inflation scenario in the Indian

economy for last several years. [15]
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7. Analyze the pattern of foreign trade of India since 1991. In this backdrop, suggest measures to

increase and diversify foreign trade for economic development in India. [30]
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